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Ranking 

 

Q.1) Rakesh is on 9th position from upwards and on 38th position from downwards in a class. How many students are in the 

class? 

பாகேஷ் ஑ரு யகுப்஧ில் உள்஭ நாணயர்ே஭ின் கநல்க஥ாக்ேி 9 யது இடத்திலும், ஑ரு யகுப்஧ில் 38 யது 

இடத்திலும் ேீழ்க஥ாக்ேி உள்஭ார். யகுப்஧ில் எத்தன஦ நாணயர்ேள் உள்஭஦ர்? 

a)47 

b)45 

*c)46 

d)48 

 

Q.2)  Hemang is 16th from the top and twelfth from the bottom in merit in the class. How many students are there in the class? 

கேநாங் யகுப்஧ில் தகுதி அடிப்஧னடனில் கநக஬ இருந்து 16 யது இடத்திலும், ேீகம இருந்து ஧ன்஦ிபண்டாயது 

இடத்திலும் உள்஭ார். யகுப்஧ில் எத்தன஦ நாணயர்ேள் உள்஭஦ர்? 

a)29 

b)28  

*c)27 

d)Cannot be determined 

 

Q.3)  Roshan ranked 11th from the top and thirty-one from the bottom in a class. How many students are there in the class? 

஑ரு யகுப்஧ில் கபாரன் கந஬ிருந்து 11 யது இடத்திலும், ேீமிருந்து முப்஧த்ததாரு இடத்திலும் உள்஭ார். யகுப்஧ில் 

எத்தன஦ நாணயர்ேள் உள்஭஦ர்? 

a)42 

b)43 

*c)41 

d)40 

 

Q.4) Sunita ranked 11th from the top and 27th from the bottom in a class. How may student are in the class? 

஑ரு யகுப்஧ில் சு஦ிதா 11 யது இடத்னதம௃ம், 27 யது இடத்னதம௃ம் ஧ிடித்தார். எ஦ில் அந்த யகுப்஧ில் எத்தன஦ 

நாணயர்ேள் உள்஭஦ர்? 

a)38  

b)28 

c)40 

*d)37 

 

Q.5) Manish is fourteenth from the right end in a row of 40 boys. What is his position from the left end? 

40 சிறுயர்ேள் யரினசனில் நணஷீ் ய஬து முன஦னி஬ிருந்து ஧தி஦ான்ோயது. இடது முன஦னி஬ிருந்து அயபது 

஥ின஬ என்஦? 

a)24th 

b)25th 

c)26th 

*d)27
th

 

 

Q.6) Vijay's position is 14th from upwards in a class of 43 students. What will be his position from downwards? 

43 நாணயர்ேள் தோண்ட யகுப்஧ில் யிஜய்னின் ஥ின஬ 14 யது இடத்தில் உள்஭து. ேீழ்க஥ாக்ேி அயபது ஥ின஬ 

என்஦யாே இருக்கும்? 

*a)30th 

b)28th 

c)29th 

d)31st 

 

Q.7) Ram and Sham are ranked 13th and 14th respectively is a class of 23. What are their ranks from the last respectively? 



 

 

பாம் நற்றும் ராம் முன஫கன 13 யது நற்றும் 14 யது இடத்னதப் ஧ிடித்துள்஭஦ர், இது  யகுப்஧ில் 23யது இடம்  

ஆகும். எ஦ில் ேனடசினில் இருந்து அயர்ே஭ின் இடம் என்஦? 

 

a)10th,11th 

*b)11th,12th 

c)11th,10th 

d)12th, 13
th
 

 

Q.8) Mohan and Ramesh are ranked seventh and eleventh respectively from the top in a class of 41 students. What will be their 

respective ranks from the bottom in the class? 

கநாேன் நற்றும் பகநஷ் ஆேிகனார் 41 நாணயர்ே஭ின் யகுப்஧ில் முன஫கன ஏமாயது நற்றும் ஧தித஦ான்஫ாயது 

இடத்னதப் ஧ிடித்த஦ர். யகுப்஧ில் ேீமிருந்து அயர்ே஭ின் இடம் என்஦யாே இருக்கும்? 

a)30th and 34th  

b)34th and 30
th
 

*c)35th and 31
st
 

d)36th and 32
nd

 

 

Q.9) Ravi is 7 ranks ahead of Sumit in a class of 39. If Sumit's rankis seventeenth from the last, what is Ravi's rank from the start? 

39 நாணயர்ேள் உள்஭ யகுப்஧ில் சுநித்னத யிட பயி 7 கபங்குேள் முன்஦ின஬னில் உள்஭ார். சுநித்தின் கபங்க் 

ேனடசினி஬ிருந்து  ஧திக஦மாயது என்஫ால், ஆபம்஧த்தில் இருந்து  பயினின் கபங்க் என்஦? 

a)14th 

b)15th  

*c)16th 

d)17
th
 

 

Q.10)  In a class of 20 students, Alisha's rank is 15th from the top. Manav is 4 ranks above Alisha. What is Manav's rank from the 

bottom? 

20 நாணயர்ேள் உள்஭ யகுப்஧ில், அ஬ிராயின் கபங்க் 15 யது இடத்தில் உள்஭து. அ஬ிரானய யிட நா஦வ் 4 

இடங்ேள் தபயரினசனில் முன்஦ின஬னில் உள்஭ார். ேீமிருந்து நா஦யின் கபங்க் என்஦? 

*a)10th  

b)11th 

c)9th 

d)12th 

 

Q.11) In a class of forty students, Samir's rank from the top is twelfth. Alok is eight ranks below Samir. What is Alok's rank from 

the bottom? 

஥ாற்஧து நாணயர்ேள் தோண்ட யகுப்஧ில், சநீரின் கபங்க் முத஬ிடத்தில் இருந்து ஧ன்஦ிபண்டாயது ஆகும். 

அக஬ாக் சநீருக்கு எட்டு இடங்ேளுக்கு ேீகம உள்஭ார். ேீகம இருந்து அக஬ாக்ேின் கபங்க் என்஦? 

a)20th  

*b)21st  

c)22nd 

d)19th 

 

Q.12) In a row of 21 girls, when Monika was shifted by four place towards the right, she became 12th from the left end. What was 

her earlier position from the right end of the row? 

21 த஧ண்ேள் யரினசனில், கநா஦ிோனய ஥ான்கு இடங்ேள் ய஬ப்பு஫ம் நாற்஫ினக஧ாது, இடது முன஦னி஬ிருந்து 

12 யது ஆ஦ார். யரினசனின் ய஬து முன஦னி஬ிருந்து அயளுனடன முந்னதன ஥ின஬ என்஦? 

a)9th 

b)10th  

c)11th  

*d)14
th

 

 



 

 

Q.13) In a row at a bus stop, A is 7th from the left and B is 9th from the right. Both of them interchange their positions and thus A 

becomes 11th from the left. How many people are there in that row? 

஑ரு க஧ருந்து ஥ிறுத்தத்தில் ஑ரு யரினசனில், A இடநிருந்து 7 யது இடத்திலும், B ய஬துபு஫த்தில் 9 யது 

இடத்திலும் உள்஭து. இருயரும் தங்ேள் ஥ின஬ேன஭ நாற்஫ிக் தோள்ேி஫ார்ேள், இத஦ால் A இடநிருந்து 11 யது 

இடத்னதப் ஧ிடிக்கும். அந்த யரினசனில் எத்தன஦ க஧ர் இருக்ேி஫ார்ேள்? 

a)18 

*b)19  

c)20 

d)21 

 

Q.14) In a row of children, Dipa is fifth from the left and Vijay is sixth from the right. When they interchange their places among 

themselves, Dipa becomes thirteenth from the left. Then, what will be Vijay's position from the right? 

஑ரு யரினசனில், தீ஧ா இடதுபு஫த்தில் ஐந்தாயது இடத்திலும், யிஜய் ய஬துபு஫த்தில் ஆ஫ாயது இடத்திலும் 

உள்஭஦ர். அயர்ேள் தங்ேளுக்குள் தங்ேள் இடங்ேன஭ ஧ரிநா஫ிக்தோள்ளும்க஧ாது, தீ஧ா இடநிருந்து 

஧தின்மூன்஫ாயது ஆேி஫ார். எ஦ில் ய஬துபு஫த்தில் இருந்து யிஜய்னின் ஥ின஬ என்஦யாே இருக்கும்? 

a)4th  

*b)14th 

c)8th 

d)12th 

 

Q.15) In a row of boys, Suresh is seventh from the left and Rohit is twelfth from the right. If they interchange their positions, 

Suresh becomes twenty-second from the left. How many boys are there in a row? 

சிறுயர்ே஭ின் யரினசனில், சுகபஷ் இடதுபு஫த்தில் ஏமாயது இடத்திலும், கபாேித் ய஬துபு஫த்தில் இருந்து 

஧ன்஦ிபண்டாயது இடத்திலும் உள்஭஦ர். அயர்ேள் தங்ேள் ஥ின஬ேன஭ நாற்஫ிக்தோண்டால், சுகபஷ் 

இடநிருந்து இரு஧த்தி இபண்டாயது ஆேி஫ார். யரினசனில் எத்தன஦ சிறுயர்ேள் இருக்ேி஫ார்ேள்? 

a)19 

b)31 

*c)33 

d)Cannot be found 

 

Q.16) In a row of girls, Rita and Monika occupy ninth place from the right end and tenth place from the left end respectively. If 

they interchange their places, then Rita and Monika occupy seventeenth place from the right and eighteenth place from the left 

respectively How many girls are there in the row? 

த஧ண்ேள் யரினசனில், ரீட்டா நற்றும் கநா஦ிோ முன஫கன ய஬து முன஦னி஬ிருந்து ஑ன்஧தாயது இடத்னதம௃ம் 

இடது முன஦னி஬ிருந்து ஧த்தாயது இடத்னதம௃ம் ஧ிடித்துள்஭஦ர். அயர்ேள் தங்ேள் இடங்ேன஭ 

஧ரிநா஫ிக்தோண்டால், ரீட்டாவும் கநா஦ிோவும் ய஬துபு஫த்தில் ஧திக஦மாம் இடத்னதம௃ம் இடத்தி஬ிருந்து 

஧தித஦ட்டாம் இடத்னதம௃ம் ஧ிடிக்ேின்஫஦ர்.எ஦ில் எத்தன஦ த஧ண்ேள் யரினசனில் உள்஭஦ர் ? 

a)25  

*b)26 

c)27 

d)Data inadequate 

 

Q.17) In a line of boys, Ganesh is 12th from the left and Rajan is 15th from the right. They interchange their positions. Now, 

Rajan is 20th from the right. What is the total number of boys in the class? 

஑ரு சிறுயர்ே஭ின் யரினசனில், ேகணஷ் இடநிருந்து 12 யது இடத்திலும், பாஜன் ய஬துபு஫த்தில் 15 யது 

இடத்திலும் உள்஭஦ர். அயர்ேள் தங்ேள் ஥ின஬ேன஭ நாற்஫ிக்தோள்ேி஫ார்ேள். இப்க஧ாது, பாஜன் ய஬துபு஫த்தில் 

இருந்து 20 யது இடத்தில் இருக்ேி஫ார். யகுப்஧ில் உள்஭ தநாத்த சிறுயர்ே஭ின் எண்ணிக்னே என்஦? 

a)29 

b)30 

*c)31 



 

 

d)32 

 

Q.18) In a queue, Vijay is fourteenth from the front and Jack is seventeenth from the end, while Mary is exactly in between Vijay 

and Jack. If Vijay be ahead of Jack and there be 48 persons in the queue, how many persons are there between Vijay and Mary? 

஑ரு யரினசனில், யிஜய் முன்஦ால் இருந்து ஧தி஦ான்ோயது நற்றும் ஜாக் முடியில் இருந்து ஧திக஦மாயது, 

கநரி சரினாே யிஜய் நற்றும் ஜாக் இனடகன இருக்ேி஫ார். யிஜய் ஜாக்னே யிட முன்஦ால் இருந்தால், 

யரினசனில் 48 ஥஧ர்ேள் இருந்தால், யிஜய் நற்றும் கநரிக்கு இனடகன எத்தன஦ ஥஧ர்ேள் இருக்ேி஫ார்ேள்? 

*a)8 

b)7 

c)6 

d)5 

 

Q.19) In a class of 10 girls and 20 boys, Jaya's rank is '4' among the girls and '18'in the class. What is Jaya's rank among the boys 

in the class? 

10 த஧ண்ேள் நற்றும் 20 சிறுயர்ேள் தோண்ட யகுப்஧ில், தஜனாயின் கபங்க் த஧ண்ேள் நத்தினில் '4' நற்றும் '18 

'யகுப்஧ில் உள்஭து. யகுப்஧ில் உள்஭ சிறுயர்ே஭ினடகன தஜனாயின் கபங்க் என்஦? 

a)Cannot be determined 

b)16 

c)14  

*d)15 

 

Q.20) In a class of 45 students, among those students who passed, Anmol secured 11th position from upwards and 15th from 

downwards. How many students failed? 

45 நாணயர்ேள் தோண்ட யகுப்஧ில், கதர்ச்சி த஧ற்஫ நாணயர்ே஭ில், அன்கநால் 11 யது இடத்னதம௃ம் 

கநல்க஥ாக்ேி 15 யது இடத்னதம௃ம் ஧ிடித்தார். எத்தன஦ நாணயர்ேள் கதால்யினனடந்த஦ர்? 

a)19  

*b)20 

c)15 

d)18 

 

Q.21) Malay Pratap is on the 13th position from the starting and on the 17th position from the end in his class. He is on 8th 

position from the starting and on 13th position from the end among the students who passed. How many students failed? 

ந஬ாய் ஧ிபதாப் த஦து யகுப்஧ில் ததாடக்ேத்தில் இருந்து 13 யது இடத்திலும், இறுதினில் இருந்து  17 யது 

இடத்திலும் உள்஭ார். கதர்ச்சி த஧ற்஫ நாணயர்ே஭ில் அயர் ஆபம்஧த்தில் இருந்து 8 யது இடத்திலும், முடியில் 

இருந்து 13 யது இடத்திலும் உள்஭ார். எத்தன஦ நாணயர்ேள் கதால்யினனடந்த஦ர்? 

a)7 

b)8 

*c)9 

d)Can not be determined 

 

Q.22) Manisha ranked 16th from the top and 29th from the bottom among those who has passed an examination. Six boys did not 

participate in the examination and five failed in it. How many boys were there in the class? 

கதர்யில் கதர்ச்சி த஧ற்஫யர்ே஭ில் ந஦ிரா 16 யது இடத்னதம௃ம், 29 யது இடத்னதம௃ம் ஧ிடித்துள்஭ார். ஆறு 

சிறுயர்ேள் கதர்யில் ஧ங்கேற்ேயில்ன஬ நற்றும் ஐந்து க஧ர் அதில் கதால்யினனடந்த஦ர். யகுப்஧ில் எத்தன஦ 

சிறுயர்ேள் இருந்தார்ேள்? 

a)40 

b)44 

c)50 

*d)55 

 

Q.23) In a queue, A is 18th from the front while B is 16th from the back. If C is 24th from the front and is exactly in the middle of 

A and B, then how many persons are there is the queue? 



 

 

஑ரு யரினசனில், A முன்஦ால் இருந்து 18 யது இடத்திலும், B ஧ின்பு஫த்தில் இருந்து 16 யது இடத்திலும் உள்஭து. 

C முன்஧க்ேத்தி஬ிருந்து 24 யது நற்றும் சரினாே A நற்றும் B க்கு ஥டுயில் இருந்தால், எத்தன஦ க஧ர் யரினசனில் 

இருக்ேி஫ார்ேள்? 

*a)45 

b)46 

c)47 

d)48 

 

Q.24)  In a class of 60, where girls are twice that of boys, Kamal ranked seventeenth from the top. If there are 9 girls ahead of 

Kamal, how many boys are after him in rank? 

60 நாணயர்ேள் உள்஭ யகுப்஧ில், த஧ண்ேள் சிறுயர்ேன஭ யிட இபண்டு நடங்கு அதிேம், ேநல் கநக஬ இருந்து 

஧திக஦மாயது இடத்னதப் ஧ிடித்தார். ேநன஬ யிட 9 த஧ண்ேள் முன்஦ால் இருந்தால், அயருக்குப் ஧ின் எத்தன஦ 

சிறுயர்ேள் இடம் த஧ற்றுள்஭஦ர்? 

a)3 

b)7 

*c)12 

d)23 

 

Q.25) If you count 21 letters in the English alphabet from the end and 20 letters from the beginning, which letter will exactly 

appear in the middle of the sequence thus formed? 

முடியில் இருந்து ஆங்ேி஬ எழுத்துக்ே஭ில் 21 எழுத்துேன஭ம௃ம், ஆபம்஧த்தில் இருந்து 20 எழுத்துக்ேன஭ம௃ம் 

எண்ணி஦ால், இவ்யாறு உருயாக்ேப்஧ட்ட யரினசனின் ஥டுயில் எந்த எழுத்து சரினாேத் கதான்றும்? 

a)N 

b)L 

c)K 

*d)M 

 

 


